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HETH & Ut i Y i Ut i i i uE i i i
Ik B 2 & 53,662(40,640(40,392| 248| 210| 452|7,437]|1,929|2,994| 178 392 7,027 1,846( 2,749 32 60| 410 83| 245|1,815| 781 0| 538| 193] 303
Ik BB v7 7,118] 5,331| 5,315 16 63 9 551 18( 1,146 63 7| 535 18| 1,146 0 2 16 0 0 82 0 0 82 0 0
KiEh 2,630( 1,727 1,726 1 0 10 529 27| 337 0 5| 485 22| 320 0 5 44 5 17 34 0 0 34 0 0
=Gy 2,119 1,490( 1,489 1 9] 52 479 88 1 6 46| 424 84 0 3 6 55 4 1 92 2 0 8 9 73
ZABRM 2,992( 2,658( 2,653 5 12 16 251 55 0 3 10| 226 39 0 9 6 25 16 0 76 39 0 22 15 0
B 1,877( 1,144 1,097 47 25 19 585 97 7 25 10| 488 90 0 0 9 97 7 71 173 0 0 64 14 95
==F= 31} 855 558 558 0 8| 28 206 55 0 8 28| 206 55 0 0 0 0 0 0 0 0 0 0 0 0
EF-r) 526 390( 390 0 8 5 109 14 0 6 o| 101 9 0 2 5 8 5 0 27 0 0 15 12 0
R 712| 558| 546 12 8| 27 107 12 0 6 27 95 12 0 2 0 12 0 0 7 0 0 7 0 0
FEH 1,371( 1,099( 1,099 0 12 3 123 82 52 12 3| 123 82 52 0 0 0 0 0 13 0 0 13 0 0
BT 1,233| 866 855 11 9 5 299 54 0 8 5| 297 49 0 1 0 2 5 0| 175 149 0 20 1 5
EEmsEt | 1,375/ 1,116] 1,116 0 8| 26 771 129 19 8 26 771 129 0 0 0 0 0 19 52 33 0 9 10 0
il 357 1,279] 1,025( 1,022 3 0 8 125 121 0 0 71 111 119 0 0 1 14 2 0 12 0 0 12 0 0
‘BHBRT 3,816( 3,406( 3,385 21 6] 20 206 178 0 3 6| 199 170 0 3 14 7 8 0 82 27 0 27 28 0
"R 1,698| 1,238 1,238 0 0 8 365 73 14 0 8| 365 73 14 0 0 0 0 0 18 2 0 16 0 0
R 616 325 325 0 0| 30 212 49 0 0 30| 212 49 0 0 0 0 0 0 9 0 0 9 0 0
nfEm 1,593| 968 968 0 3 3 17 1| 601 3 3 17 1| 601 0 0 0 0 0 10 0 0 10 0 0
MeEET 677 550 550 0 0 6 121 0 0 0 6| 120 0 0 0 0 1 0 0 19 0 0 7 3 9
AET 2,494 2,028( 2,028 0 0 0 290 23| 153 0 0| 290 23] 153 0 0 0 0 0 90 1 0 17 2 0
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S AL s s | AL | | AL s s |
METH 4,467| 3,715| 3,585| 130 9 13 529| 201 0 9 13| 529| 201 0 0 0 0 0 0 81 70 0 11 0 0
Tam 1,001 618| 618 0 0 12 268| 103 0 0 12| 266 98 0 0 0 2 5 0| 262| 142 0 21 6 93
wEm 847| 405| 405 0 2 5 382 34 19 2 5| 374 34 19 0 0 8 0 0| 124 90 0 17 17 0
I Fg BT 523| 415| 415 0 0 0 56 52 0 0 0 56 52 0 0 0 0 0 0 20 0 0 4 0 16
SEFNET 431 292| 292 0 2 1 21 115 0 2 1 21 115 0 0 0 0 0 0 6 0 0 5 1 0
BER 494| 251 251 0 4 9 182 31 17 3 9] 155 31 16 1 0 27 0 1 61 37 0 11 13 0
FFHET 495| 310| 310 0 7 9 144 25 0 1 3] 139 25 0 6 6 5 0 0 10 0 0 10 0 0
B~ [RET 232 101 101 0 3 2 111 15 0 2 105 14 0 1 2 6 1 0 12 6 0 3 3 0
HFET 1,155 943| 943 0 0 0 0 9] 203 0 0 0 9] 203 0 0 0 0 0 6 0 0 6 0 0
iy 2 HT 288| 127 127 0 0 3 44 10| 104 0 1 34 7 0 0 2 10 3| 104 18 8 0 4 6 0
= J\HT 452| 251| 250 1 1 2 85 1 112 1 1 85 1 111 0 1 0 0 1 7 2 0 5 0 0
$EEE I HT 1,462( 1,127 1,127 0 4 20 271 40 0 4 20( 263 40 0 0 0 8 0 0 31 0 0 24 7 0
KEFHET 1,156( 1,016| 1,016 0 0 27 18 0 95 0 27 18 0 0 0 0 0 0 95 8 0 0 8 0 0
S ERET 1,444( 1,244 1,244 0 4 15 156 21 4 0 14| 146 17 4 4 1 10 4 0 6 0 0 6 0 0
L A BT 746| 628| 628 0 1 4 4 0| 109 1 4 4 0| 109 0 0 0 0 0 8 4 0 4 0 0
IRAET 316| 252| 252 0 0 42 11 11 0 0 42 11 11 0 0 0 0 0 0 1 0 0 0 1 0
= e 2221 173 173 0 0 0 45 4 0 0 0 43 4 0 0 0 2 0 0 17 10 0 3 4 0
JII 3BT 160( 113 113 0 2 2 37 5 1 2 2 37 5 1 0 0 0 0 0 9 3 0 6 0 0
+5RET 74 17 17 0 0 4 51 2 0 0 4 51 2 0 0 0 0 0 0 2 0 0 2 0 0
J\EEET 202 68 68 0 0 0 55 79 0 0 0 51 62 0 0 0 4 17 0 28 11 0 1 16 0
=R 1,361( 1,167 1,167 0 0 1 137 56 0 0 1 95 56 0 0 0 42 0 0 65 52 0 6 7 0
EAIF 493| 451 451 0 0 0 37 5 0 0 0 37 5 0 0 0 0 0 0 21 11 0 1 9 0
EEET 594| 459| 459 0 0 5 104 26 0 0 5! 100 25 0 0 0 4 1 0 27 12 0 7 8 0
I=MIES] 66 20 20 0 0 1 37 8 0 0 1 36 8 0 0 0 1 0 0 14 0 0 1 1 12




